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3DMDN� $LU� 7DQDK� DGDODK� RUDQJ� SULEDGL� DWDX� %DGDQ� \DQJ� PHODNXNDQ�
SHQJDPELODQ� GDQ�DWDX� SHPDQIDDWDQ� $LU� 7DQDK�$GD� GXD� WXMXDQ� GDODP� SHQHOLWLDQ�
LQL��\DLWX�����%DJDLPDQDNDK�NRQWULEXVL�SDMDN�DLU� WDQDK� WHUKDGDS�3HQGDSDWDQ $VOL�
'DHUDK��3$'��.RWD�3DGDQJ������$SDNDK�IDNWRU�IDNWRU�\DQJ�PHPSHQJDUXKL�GDODP�
SHODNVDQDDQ�SHPXQJXWDQ�SDMDN�DLU�WDQDK�GL�.RWD�3DGDQJ������8SD\D�DSD�VDMD�\DQJ�
GLODNXNDQ�GDODP�PHQLQJNDWNDQ�NRQWULEXVL�SDMDN�DLU�WDQDK�GL�.RWD�3DGDQJ��

-HQLV� SHQHOLWLDQ� LQL� DGDODK� NXDOLWDWLI� GHQJDQ�PHWRGH� GHVNULSWLI�� /RNDVL�
SHQHOLWLDQ� LQL� GLODNXNDQ� GL� .DQWRU� %DGDQ� 3HQGDSDWDQ� 'DHUDK� �%DSHQGD���
3HPLOLKDQ� LQIRUPDQ� GDODP� SHQHOLWLDQ� LQL� PHPDNDL� WHNQLN� SXUSRVLYH� VDPSOLQJ��
-HQLV� GDWDQ\D� DGDODK� GDWD� SULPHU� GDQ� GDWD� VHNXQGHU� \DQJ� GLNXPSXONDQ�PHODOXL�
ZDZDQFDUD�REVHUYDVL��SHQJDPDWDQ��GDQ�VWXGL�GRNXPHQWDVL�

.RQWULEXVL� SHQGDSDWDQ� SDMDN� DLU� WDQDK� GL� .RWD� 3DGDQJ� WHUKDGDS�
3HQGDSDWDQ� $VOL� 'DHUDK� .RWD� 3DGDQJ� SDGD� WDKXQ� ���������� PDVXN� GDODP�
NDWHJRUL� VDQDJDW� UHQGDK� )DNWRU� IDNWRU� \DQJ�PHPSHQJDUXKL� GDODP� SHODNVDQDDQ�
SHPXQJXWDQ�SDMDN�DLU�WDQDK�GL�.RWD�3DGDQJ�\DQJ�PHOLSXWL�GDUL�XQVXU�ZDMLE�SDMDN�
GDQ� SHWXJDV� SHPXQJXW� SDMDN�� 8SD\D�XSD\D� \DQJ� KDUXV� GLODNXNDQ� JXQD�
PHQLQJNDWNDQ� SHQGDSDWDQ� SDMDN� DLU� WDQDK� GL� .RWD� 3DGDQJ� \DLWX� GHQJDQ� FDUD�
PHQJJXQDNDQ� DQDOLVLV� 6:27� VHUWD� GLODNXNDQQ\D� VRDVLDOLVDVL�� GDQ� PHODNXNDQ�
SHQGDWDDQ� GDUL� %DGDQ� 3HQGDSDWDQ� 'DHUDK� �%DSHQGD�� VLDSD� VDMD� \DQJ�
PHQJJXQDNDQ�SDMDN�DLU�EDZDK�WDQDK�VHFDUD�NRPHUVLDO�
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